fEH AN K4 JIEfL Gk JEEH ik
100m SAnL—2 | R A 1L 11.04 -0.4
s A(2) 2 fir 11.04 -0.4
FHROK—(2) 3L 11.16 +0.8
EH tE©) 6 fir 11.17 -0.4
JE - FHRRR(2) 7 r 11.21 +1.0
“H 1&EX©) 11 7 11.28 -0.4
Wil #EIEQ) 13 {ir 11.35 +0.1
KEF FHE(2) 16 fir 11.39 -1.3
EH BAQ) 17 i1 11.40 +0.8
AR BEYR(1) 18 fif 11.41 +1.0
HHO2ERQ) 20 {ir 11.48 -0.4
Tk EAEQ 22 {if 11.50 +0.8
2R Biok(1) 33 fir 11.71 -2.5
Ry k() 51 {if 11.86 +0.4
/NP (L) 60 fir 11.95 -1.3
el 1203) 64 fif 11.98 -0.4
400m g4 nL—2 | L) HEREEQ) 14z 50.57
R () 2L 50.98
A MEE(D) 3 AL 51.59
fHE ME(2) 5 fir 51.67
fEH EAR) 6 fir 52.08
W b)) 11 7 52.56
et #BAQ) 12 fi7 52.72
HH RE2) 24 ff 54.85
By r(2) 27 ir 55.24
e FE AR R (1) 40 fir 57.56
3000m SALL—A | /NG EHE) 147 8:20.08 IR Rk
Mg SHHRE) 27 8:41.75
Al () 3fir 8:46.82
i % K AR (2) 4 fir 8:48.10
B FARER(3) 5 fir 8:48.69
B KHE®) 6 fir 8:51.81
R ZHE() 7L 8:52.69
Hikd EER(3) 8 fir 8:53.03

9/29 KB —HUXH 4 [BlRts (IRER)




i H VAN K4 JEAE ALK JEGH i
3000m sA4nL—2 | B ORI 9 fir 8:56.54
KA K1) 10 {if 8:56.68
/NAR S EE (1) 11 fiF 9:01.12
Bl KEQ 12 i 9:02.46
i H R 13 {if 9:03.43
H R (3) 14 {7 9:04.42
o ) 15 {if 9:07.45
FMEF JRUHE(L) 16 fir 9:08.19
HA —%&Q) 17 i1 9:09.47
By SEFQ) 19 7 9:10.94
FhE ) 20 {ir 9:12.17
A R 21 {if 9:12.27
HSE R EA(2) 22 if 9:13.83
A B (2) 23 fir 9:14.19
JIGa (1) 24 fir 9:16.52
b i) 25 fir 9:18.22
M B (L) 26 {if 9:21.25
B K1) 28 fir 9:25.72
W PEFI2) 29 fir 9:26.44
HAK BERB) 31 fif 9:26.91
JEHE MR 32 ir 9:28.65
e EXR®B) 34 fif 9:29.56
IS SN, 36 fir 9:29.97
JERAT (1) 40 fir 9:36.66
FKIL P (3) 41 1 9:41.64
B #A(1) 47 fir 9:52.25
J - % (1) 49 fir 9:56.41
EH RO 50 fir 9:56.72
e w0 57 fif 10:08.92
TR FERQ) 69 i 10:36.39
110mH A4 nL—2 | JE BEREQ) 11 16.01 -0.1
I i55:0) 2 fir 16.14 -0.1
— Bk W AR fEsR(2) 2 fir 13m32 -1.3
AR A 2H(2) 4 fr 12m69 +0.3

9/29 KB —HUXH 4 [BlRts (IRER)




fEH VAR K4 gL Eikas JEEH i

i fLF w LIl S (2) 2 fir 12m30
A A 3L 11m28
A (D 8 fir 9m24

0 wm A A 17 47m64
Il S (2) 6 fir 37m35
BEH R 8 fir 34m35
e FEQ2) 12 {if 27m08
AZE 2R 13 i1 26m37

fEH AN K4 JIEfL Gk 2 JEL =

100m G4 nL—2 | B EEQ) 2 fir 12.51 +1.3
i EkEQ2) 3 fir 12.64 +1.3
K Hk() 4 {7 12.70 +1.3
e EAE) 5 fir 12.73 +1.3
A BRE(2) 6 L 12.75 +1.3
A #TH(2) 7L 12.94 -2.4
F EOZe7-(1) 8 fir 13.03 -2.4
B4 EAh(1) 10 fir 13.21 -0.4
/N B A (1) 13 fif 13.39 -2.4
st (D 14 fif 13.44 -2.4
e #EQ) 18 fi7 13.48 -2.4
Bt 50 &> 22 70>(1) 26 fir 13.63 -1.5
| PkEQ) 27 fir 13.66 -1.5

400m ZA D=2 | =y HEETH(2) 2 fir 58.29
M =) 3L 58.86
Kb H22(1) 4 fir 1:00.49
A BirE (2) 6 fir 1:02.59
Al H2E5(2) 8 fir 1:03.21

800m S nL—2 | [ikE  #33E(3) 22 fif 2:44.67

400mH w B TP N ) 2L 1:11.73

o fLFx w’ b S - N () 1 i 11m20
HH Q) 2L 10m36

R0 w B FE 2R 1L 29mo01
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